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29.
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32.
33.
.1+ 8+ 27 +-mmmmeee- +nd=
35.
36.

37.

38.
39.
. The nt" term of 13,8,3,-2, ------ is
41.
. Sum of the squares of the first ‘n’ natural numbersis

. InanA.R, if 4 times of 4th term isequal to 5 times of 5Sthtermthen _ termis zero.
. The n'" term of the series a,ar,ar?,ar3 ------- is

. The sum of ‘n’ terms of the GP 3,3?%,33, ------ is120thenn =

46.

NS

47.
. If |r] < 1, then the sum to infinite terms of the series a+ar+ar?+------ + o0 =
49,
50.

51.

PROGRESSIONS

If A,GH denote the A.M. GM. and H.M of two positive numbers then their descending order is
If there are ‘n’ Arithmetic means between ‘@ and ‘b’ then the common difference d =
s, S, ————— IS (June 2009)
Sum to infinity terms of the GP. 3 9
7 S — +103 =
If there are ‘n” GM’s inserted between a and b then the common ratio ‘r’ is
The n term of the series 1.2+2.3+3.4+-------- is ( March 2008)
If ab,carein GPthena/b =
If t,=—" thent
n+1
The GM of 3and 27 is
If 3,4,6 are in H.P then the fourth term is (March 2008)
If the sum of first ‘n’ natural numbersis 66 then ‘n’ =
14243+~ +100 =
If x,y,zareinA.Pthen 2y =
The sum of ‘n’ terms of the series (at+1) + (a+2) + (a+3) +------ is (June 2010)
nt term of A.P. is (2n%+2n+3) then the second term is (March 2010)
The arithmetic mean of (a-b)? and (a+b)? =
InaH.P.

2008

— =, ——=,——————then is
Xx+3'x x-3 x=21 term.

Ifa, a, a, - and by, b, by, .......... areinA.Pthena, —b;, a,—b,, a,—b; arein progression.
Sum of thefirst ‘n’ odd natural numbersis
The number of multiples of 9 between 1 and 1000 is
it 111 aeinH.Pthenc=
bc

The 10th term of the series

K+2, 4K-6 and 3K-2 arein A.P. thenK =
The n" term of A.Pis 3n+1 and the sum of ‘n’ termsis

If LZXE areinA.P. thenx =
77

The first term of a GPis 3 and 6™ term is 96 then its common ratio is
If ab,c arein A.Pthen b+c, ct+a, atb arein
The arithmetic mean of 1, 1 is
ab
The two geometric means inserted between 2, 16 are
0, 9, 9; e GM’s between a and b then g,9, =
InanA.PS, =2n? +5nthent, =
The ‘n't term of GPis 2(0.2)™ ! its third term is
The first term of an A.Pis—1 and common difference is—3 then 12" term is

IfAM =2, GM =8, thenHM =
If TanA, TanB, TanC arein A.P. then CotA, CotB, CotC arein progression.

gform of 156 is

If ab,c are 3 consecutive terms of an A.P then K3 KP K¢ are 3 consecutive terms of
The relation between =n & Endis

If ab are positive numbers then A.M, GM, H.M, arein progression.

7" term of the series 1,%1,%,__ is

Sum of the 5 termsin the series 1.2 + 2.3 + 3.4 + ------- is

The n™ term of an A.Pis 2n+5 then the common difference is
If “a isthefirst term and ‘d’ is the common difference of an A.P then 151 term of corresponding H.Pis

InaGPsn:(l_(;z)n) thent =

KEY



1L.A=2G=H

b-a
" n+1
3.3/2

4. 3025

1
s (o)
a
. n(n+1)
. blc

. 2008/2009
9

10. 12
11. 11
12. 5050
13. (x+2)

14. g(2a+ (n+1)

15. 15
16. &+b?

17. 91
term

18. Arithmetic
19. n?
20. 111
21. 2b-a
22. 4x
23. k=3
3n%+5n
2
25.x=1
26.2
27. Arithmetic progression
a+b
2ab
29. 4&8
30. g3
31. 19
32.0.08
33.-34
n%(n+1)2
4
35.32
36. Harmonic
37. 155/99
38. Geometric
39. n3 = (Zn)?
40. 18-5n
41. Geometric
n(n+1)(2n+1)
6
43. 9 term
44, ar+t
45. 4
46. 1/64
47.70
48. all—r
49.2
1
a+14d

51. (-2t

24.

28.

34.

42.

50.

Important Questions
4 Marks

1. If the sum of thefirst ‘n" natural numbers is's;, and that of their squares s, and cubes s,, show that 952 =5, (1+8s)7

Find the sum of ‘n’ terms of the series 0.5+0.55+0.555+----- n terms?

Insert 6 H.M’s between 2/3 and 2/31.

The A.M,GM and H.M of two numbers are A,GH respectively show that A > G > H?

Find the sum to ‘n’ terms of the series 1.3+3.5+5.7+-----?

If 7 times the 7t term of an A.Pis equal to 11 times the 111" term, show that the 18" term of it is zero?

o 0~ wN



2 Marks

Insert 4 arithmetic means between 3 and 33

The 8" term of an A.Pis 17 and the 19™ term is 39 Find 251 term? )

If g, 9,, g, are three geometric means PEtween m and n. Show that g,g;= g2 = mn
Determine the 12t term of a G.P where 8™ term is 192 and common ratio is 2?
Which term of the A.P10,8,6....... is-28?

Find the sum to ‘n’ terms of the series 51+49+47+................ ?

Find the 15th term of the A.P (x+y),

(X-Y),(X=3Y), crererrriarennns ?

NOo oA~ ®WDNPRE

1Mark
1. Find the sum to infinity of the GR?
333 o

ATy
Find the n" term of GP 100, 110, 121, ....?

. If K+2, 4K—6 and 3K—2 arein A.Pfind K?
4. InArithmetic progression a = -3030, | =-1530 and n = 51 find 5?7

) . . n(n+3)
5. Findthe 17" term in a seriesif t, = ?
(n+2)
Find the 12" term of the progression 10,17,24 ................. ?

First termin A.Pis‘a and common difference is ‘d’ write general term of A.P?
InGPa=2,r= J2 find s;,?

. Find the Harmonic mean of 6 and 12.?

10. Write the fractional form of 0.4237?
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